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W Answer the following questions:

Q.1. The 20% of a number is 120. Find the number. (1x2=2)
ke 12040320605

Q.2. Saad spends 80% of the total earning at the golf course last summer. If
he spends Rs. 35,000 then find her total earning at golf course. (1x3=3)
A Tt B 313500001 Y 5 A4s 808 TS Us S St T
LI TS

Q.3. The 70% of a tree is 3.8m. Find the total height of the tree. (1x2=2)
LIS i S 23 13,840 §706 2304

Q.4. Nadia used 6kg of Banaspati Ghee out of 8kg Banaspati Ghee in the
month of March. She used 7kg of Banaspati Ghee out of 10kg Banaspati
Ghee in the month of April. In which month she used Ghee than the
other month? (1x3=3)
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% Answer the following questions:

Q.1. The 20% of a number is 120. Find the number. (1x2=2)
ke 12040320605

Q.2. Saad spends 80% of the total earning at the golf course last summer. If
he spends Rs. 35,000 then find her total earning at golf course. (1x3=3)
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Q.3. The 70% of a tree is 3.8m. Find the total height of the tree. (1x2=2)
LI IS 23 23840 370625

Q.4. Nadia used 6kg of Banaspati Ghee out of 8kg Banaspati Ghee in the
month of March. She used 7kg of Banaspati Ghee out of 10kg Banaspati
Ghee in the month of April. In which month she used Ghee than the
other month? (1x3=3)

L2 L S ose 3 Gt L 6o Ut St K 8t 2 L ot
?liuyc_é’:_"g/»fufé‘;_"u{c‘;(}/vt’z"a{&&(lf)g7:.&;{");{10



